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PART A: Vocabulary

Directions: Choose the word or pﬁmﬁe (1), (2), (3), or (4) that best completes
each sentence. Then mark the correct choice on your answér sheet.

1-  What was intended as a peaceful demonstration rapidly ——-——-- — into vielence.

1) agitated 2) degenerated 3} preceded 4) discriminated
2-  The Democratic Party 70 percent of the vete.

1) garnered 2) esteemed 3) obligated 4} assembled
3- Some animals can -------- - very high temperatures.

1} detach 2) submit 3) obstruct 4) withstand
4- Researchers have discovered that up to one half of all children born of alcoholics are

genetically to alcoholism.

1) discerned 2) apprehended 3) predisposed 4) impressed
5- Communication via the Internet gives an important to international trade.

1) dimension 2) exposure 3) expenditure 4) distribution
6- Lack of childcare facilities can be a major --—-—- — for women wishing to work.

1) dispute 2) routine 3) obstacle 4) contraction
7- Itis a common --—------- that women are worse drivers than men.

1) essence 2) impetus 3) fallacy 4) amusement
8- The - -- for using this teaching method is to encourage student confidence.

1) advent 2) rationale 3) authenticity 4) constitution
9-  The degree of punishment should be — to the seriousness of the crime,

1) inclined 2) receptive 3) prominent 4) proportional
10- Low inflation is the key to --—----=—-- economic growth.

1) sustained 2) congruouns 3) extravagant 4) well-disposed

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or
(4) best fits each space. Then mark the correct choice on your answer sheet.

Commonwealth of Nations is an international organization composed of independent states,
all of which were part of the British Empire. It was constituted by the Statute of Westminster,
(11) ===-----=- the British Dominions were recognized as *autonomous communities’, (12) -------
the British Crown. Since 1947, when India chose (13) ---------- within the Commonwealth, it
has consisted of an inereasing number of republics, so that the role of the British monarch, who
is the head of only seventeen (14) ---------- a total of fifty-three member states, 15 confined
(15) —-——--m--- head of the Commonwealth. Given that its member states have little in common
apart from a historical tie to the UK, it has rarely been able to influence world affairs, except
perhaps for its leadership on the international imposition of sanctions upon South Africa.

11- 1)so 2) which 3) so that 4) in which
12- 1) binding together 2) bound together by
3) tegether having bound 4) having bound together
13- 1) to remain 2) remaining 3) for remaining 4yto be remained
14- 1) by 2) out of 3y within 4) outside

15- 1) for 2) 1o who 1s 3) to that of 4) that she is
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| Then m.—:m‘c in on your answer sheet.

An heirloom plant is a cultivar that was commonly grown during earlier periods in human
history, but which is not used in modemn large-scale agriculture. Many heirloom vegetables
have kept their traits through open pollination, while fruit varieties such as apples have been
propagated over the centuries through grafts and cuttings. The trend of growing heirloom
plants in gardens has been growing in popularity in the United States and Europe over the last
decade. Heirloom growers have different motivations. Some people grow heirlooms for
historical interest, while others want to increase the available gene pool for a particular plant
for future generations. Some select heirloom plants due to an interest in traditional organic
gardening. Many simply want to taste the different varieties of vegetables, or see whether
they can grow a rare variety of plant. The definition of the use of the word heirloom to
describe plants is highly debated. One school of thought places an age or date point on the
cultivars. For instance, one school says the cultivar must be over 100 years old, others 50
years, and others prefer the date of 1945 which marks the end of World War II and roughly
the beginning of widespread hybrid use by growers and seed companies or industrial
agriculture. Many gardeners consider 1951 to be the latest year a plant can have originated
and still be called an heirloom, since that year marked the widespread introduction of the first
hybrid varieties. It was in the 1970s that hybrid seeds began to proliferate in the commercial
seed trade.

16- The passage mentions that ...............
1) it is possible to propagate hElrlnum fnut ﬂ'ln:}ugl': grafts
2) heirloom plants today answer best to large-scale agriculture
3) modern heirloom plants cannot be grown by individual growers
4) open pollination-is the safest method to maintain heirloom plants
17- The passage does NOT miention that heirloom plants are grown for (their) ............
1) taste 2) genetic value
3) commercial interest 4) organic gardening
18- We understand from the passage that ..............
1) hybrid plants can never be heirloom plants
2) heirloom plants are from 50 to 100 years old
3) most heirloom plants were produced in World War I1
4) seed mmpan.ies develop heirloom plant cultivars
19~ The passage is mainly about heirloom plants, .. e
1) and the interest for growing them in the US and Eurﬂpf:
2) their taste and the varieties which are successfully pollinated
3) the motivation to grow them and requirements for their definition
4) and the approximate dates in which they came to be commercially grown
20- The word ‘proliferate’ in the passage (underlined) in closest to ..........ccoiie.
1) “sell” 2) ‘increase’ 3) ‘know’ 4) *produce’
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A high-pressure area is.a region where the atmospheric pressure at the surface of the planet is
greater than its surrounding environment. Winds within high-pressure areas flow outward due
to the higher density air near their centre and friction with land. Due to'the coriolis force,
winds flow clockwise around high-pressure systems in the northern hemisphere and
anticlockwise in the southern hemisphere. Regions of high-pressure are alternatively referred
to as anticyclones. High-pressure areas are generally associated with cooler, drier air as well
as clearing skies due to their formation within areas of atmospheric subsidence, or areas of
large scale air descent. The strongest high-pressure areas are associated with arctic air masses
during the winter, which modify and weaken once they move over relatively warmer water
bodies. The area of high pressure associated with the descending branch of the Hadley cell,
known as the subtropical ridge, steer tropical waves and tropical cyclones across the ocean
and is strongest during the summer. Arctic high-pressure systems weaken with height, while
subtropical ridges strengthen with height. High-pressure systems form due to downward
motion through the troposphere, the atmospheric layer where weather occurs. Preferred areas
within a synoptic flow pattern in higher levels of the troposphere are beneath the western side
of troughs. On weather maps, these areas show converging winds (isotachs), also known as
confluence, or converging height lines near or above the level of non-divergence, which is
near the 500 hPa pressure surface about midway up through the troposphere.

The passage points to the fact that .........e0eceiieeenns

1) anticyclones are regions of high-pressure

2) high-pressure systems create land friction

3) coriolis force is the same as atmospheric pressure

4) wind flow is clockwise in most atmospherie pressure

It is stated in the passage that .................. -

1) arctic air masses are especially formed in the winter

2) the subtropical ridge is strongest during the summer

3) large scale air descent causes atmospheric subsidence

4) high-pressure areas are not formed in a rainy climate

The passage mentions that ...,

1) tropical cyclones may happen at nay time of the year

2) the concept of weather is a troposphere phenomenon

3) air masses become weak over warmer bodies of water

4) tropical waves lead to tropical cyclones across the ocean

*The 500 hPa pressure surface about midway up through the troposphere’ mentioned
near the end of the passage is almost where.............. may appear.

1} height lines 2) confluence isotachs

3) the level of non-divergence 4) converging winds

The word ‘trough’ in the passage (underlined) is a ............... region of relatively low
atmospheric pressure.

1) triangular 2) circular 3) shallow 4) long
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Furrow irrigation is conducted by creating small parallel channels along the field length in the
direction of predominant slope. Water is applied to the top end of each furrow and flows
down the field under ‘the influence of gravity. Water may be supplied using gated pipe,
siphon and head ditch or bankless systems. The speed of water movement is determined by
many factors such as slope, surface roughness and furrow shape but most importantly by the
inflow rate and soil infiltration rate. The spacing between adjacent furrows is governed by the
crop species, common spacings typically range from 0.75 to 2 metres. The crop is planted on
the ndge between furrows which may contain a single row of plants or several rows in the
case of a bed type system. Furrows may range anywhere from less than 100 m to 2000 m
long depending on the soil type, location and crop type. Shorter furrows are commonly
associated with higher uniformity of application but result in increasing potential for runoff
losses. Furrow irrigation is particularly suited to broad-acre row crops such as cotton, maize
and sugar cane. It is also practiced in various horticultural industries such as eifrus, stone-fruit
and tomatoes. The water can take a considerable period of time to reach the other end,
meaning water has been infiltrating for a longer period of time atthe top end of the field. This
results in poor uniformity with high application at the top end with lower application at the
bottom end. The performance of furrow irrigation can be improved through increasing the
speed at which water moves along the field (the advance rate). This can be achieved through
increasing flow rates or through the practice of surge irrigation.

26- According to the passage, in furrow irrigation
1) furrows move along the top end of each other
2) parallel channels are in the direction of slopes
3) water speed depends partly on the furrow shape
4) gated pipes are the main source of water supply
27- The passage mentions that in the furrow irrigation ..............
1) furrows are a minimum of 0.75meters across
2) soil infiltration rate determines the inflow rate
3) the water does not infiltrate uniformly over the field
4) several rows of planting are called *bed type system’
28- The passage point to the fact that ............ .
1) the depth of the furrow is set by its length
2) runoff losses are highest with shorter furrows
3) tomatoes are considered as broad acre products
4) furrowsirrigation was first developed for horticultural products

29- We understand from the passage that the ridge between the furrow on which plants are

planted .. (St . .

1) is at most 2 meters wide 2) is sloped downwards
3) cannet support citrus fruit 4) forms the end of the furrow

30- The word * surge’ in the passage (underlined) may best mean a sudden or great ...........
1) * hit’ 2)  pull’ 3) * hft’ 4} “rush’
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